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Replat of Lot 10 - Brownwood Estates

The site is located on Brownwood Lane, approximately 400 feet
south of Schlensker Road and 1900 feet east of Browning Road, in
Scott Township in northeast Vanderburgh County.

The site contains 11.98 acres, comprised mainly of pasture or
meadow and woodland on rolling ground. Part of the site drains
south and west, directly into a tributary of Schlensker Ditch.
The remaining portion drains south into a ditch on the south side
of Brownwood Lane, and then west into the Schlensker Ditch
tributary. The soil types present include Bartle silt loam (Ba),
Hosmer silt loam (HoB2, HoC3), Stendal silt loam (St) and
Zanesville silt loam (ZaC3).

The site is divided into four lots, of which Lots 1, 2 and 4 are
available for construction. Lot 3 presently contains a residence
and garage and will not be developed any further at this time.
The expected construction on Lots 1, 2 and 4 will produce a
slight increase in peak runoff. The pre-development peak runoff
for the three lots, which total 7.50 acres, is approximately 13
cfs and the post-development peak runoff rate increases to 16.4
cfs.

Culverts have been sized for the expected driveways on Lots 1, 2
and 4, in the approximate locations shown on the drainage plan.
Although the final locations may vary from those depicted, the
size of each culvert will remain the same. Each culvert was
designed to safely handle the peak flow rate from a 25 year storm
event, with the headwater depth assumed to be 12 inches above the
top of the inside of the culvert.

No detention is required for this site.
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PIPE FLOW: For a pipe flowing full, but not under pressure, Manning’s Equation
(Equation 4.6) may be used to calculate the flowrate. As soon as a depth of water
develops above the pipe the flowrate must be calculated using a modified form of the
Manning equation and must include entrance and exit losses. Equation 6.10 is used to
calculate the flowrate under these conditions,

1/2
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Ke @ Ko + 2.87n%L (6.10)
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where flowrate in cfs,

entrance loss coefficient (given in Table 6.3),

outlet loss coefficient (usually taken as 1.0),

pipe diameter (ft),

Manning’s roughness coefficient (Table 4.2),

length of pipe (ft) (Equation assumes a free jet @ exit),
= Height of water surface above center of pipe opening (ft).
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All of the equations presented may be used to calculate the flowrate Q. Often the
flowrate is known and the orifice opening, weir size or pipe diameter are the parameters
actually required. In these cases the equations are rearranged to solve for the unknown
variable. When the computed result does not correspond to a commercially available pipe
size, the type of opening, discharge coefficient, or pipe roughness are varied to obtain a
readily available pipe of proper size.

Table 6.3
. Value of K, (entrance losses)
(Portland Cement Association)
Type of Entrance 3
Concrete pipe in headwall ‘
Socket or beveled entrance 0.19
L Rounded lip 0.10
Square edge 0.43
Concrete pipe projecting, square edge 0.46
Corrugated metal pipe in headwall, square edge l 0.43

HERPICC Stormwater Drainage Manual - Revised March 1994 Chapter 6 - 37



CHAPTER 2

SLOPE IN PERCENT
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flow including flow over spoil and through forest litter, shallow channel flow toward
larger channels, and flow in open channels, both natural and improved. The travel
time in these various flow phases depends on the length of travel and the flow velocity.

Flow velocity for overland flow and shallow channel flow can be estimated
using results such as those of Izzard (1946) or from Figure 2.34. Flow velocity for
open channels can be estimated from Manning’s equation assuming the channel is
flowing full. Once the velocity in each flow segment is determined, the time of con-
centration is determined from '
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Figure 2.34. Velocities for upland method of estimating tc.
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